Prime Factorization and Exponents Lesson #4:
Comblnlng the Expon_ent Laws _

Using Factors To Combine the Exponent Laws

Part One:
Three students are attempting to simplify the following expression:
2% %3
" Their answers are shown below. -
Harry :w@xs Janet = 15@ Laura = l_5_x5

Explain using factors which student is correct.

Part Two:

Use factors to explain why 6 6a + 3a2” 6 5 2
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Combining the Exponent Laws

The following examples use two or more of the exponent laws in their solution.
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Complete Ass1gnme_nt Questions #5 - #12
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Extension

In higher level mathematics courses, you may meet variable bases and variable exponents
including binomial exponents.

Use the exponent laws to simplify the following.

Sa+7b. 3a+h .’- )&5‘”‘7\3) +Bat+o)

) £4x +y b x
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L = X°
Complete Assignment Question #13
Assignment
1. Simplify the following.
a) 3a3x3q* b) (1067) (36%) ¢) 3a>-54°
d) (2% (12x%) e) (-%J) (-14e®) f) 04c3x0.5¢
2. Simplify.
4, (2 9 8 214°
a) 12x" + 6x b) (8le”) + (9¢®) c) o
7d
-804 12/5
d) o e) (-10e!%) + (=5¢%) f Ff
3. Write in simplest form.
6x4y7
a) (3d°0%)(54%p®) b) x%y%%* c) 22
Y
5x4y7 4f12d3
d) X e) _12de £) (Tb%c)(bc®)(-2b%c%)
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4. Simplify.
10e%® - 3y p T 2.3
a) e b)) 2p7)4p")(-2p) ©) (-2xy)(x"y“)(-3xy)
15e°f° ST A '
d) (-8b%c) + (2b%¢) e) (<1085 + (2% ) (@x’z") + (-16xz%)
5. Write in simplest form.
4\ 5..2
a) (~a%b%)* b) (-a%%)’ ¢) (93—] d) ==
a c X¢C
6. Simplify.
a) (3ab®* b) (—4a’c?* ¢) (2m3n*S(m*n?)
d) (4% 8xy®) e) (a°b*c®)(3abc’)’

7. Write each expression in simplest form without brackets.
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